

$$\frac{2x^2 + 2x^2 - 1x + 2}{2x^2 + 2x^2} \cdot \frac{|x+1|}{|x+1|}$$

$$\frac{2x^2 - 1x + 2}{2x^2 + 2x^2}$$

$$\frac{2x^2 - 1x + 2}{2x^2 + 2x^2}$$

$$\frac{-2 \pm \sqrt{1}}{2} = -1 \pm \frac{1}{2} \quad R = \left\{ -1 \pm \frac{1}{2} \right\}$$

$$\frac{2x^2 + 2x^2 + 1x + 2}{2x^2 + 2x^2} \cdot \frac{|x+1|}{|x+1|}$$

$$\frac{2x^2 + 2x^2 + 1x + 2}{2x^2 + 2x^2}$$

$$\frac{2x^2 + 2x^2 + 1x + 2}{2x^2 + 2x^2}$$

$$R = \left\{ -1 \pm \frac{1}{2} \right\}$$

$$\frac{x^2 - 2x^2 + 2x - 1}{x^2 - 2x^2 + 2x - 1} \cdot \frac{|x-1|}{|x-1|}$$

$$\frac{-x^2 + 2x - 1}{x^2 - 2x^2 + 2x - 1}$$

$$\frac{-x^2 + 2x - 1}{x^2 - 2x^2 + 2x - 1}$$

$$R = \{1\}$$

$$(x-1)(x^2 - x + 1) \geq 0$$

$$x > 1$$

$$\frac{-1}{+0} - \frac{1}{+0}$$

$$R = [-1, 1)$$

$$x^2 - 2x^2 + 2x - 1 \neq 0$$

$$x^2 - 2x^2 + 2x - 1 \neq 0$$

$$(x-1)(x-2) \neq 0$$

$$x \neq 1, 2$$

$$R = \{0, 1, 2, 3\}$$

$$x^2 + 2x \neq 0$$

$$x(x+2) \neq 0$$

$$x \neq 0, -2$$

$$|2x+1| \neq |x+2|$$

$$2x^2 + 2x + 1 - x^2 - 4x - 4$$

$$x^2 - 2x - 3 \neq 0$$

$$(x-3)(x+1) \neq 0$$

$$x \neq 3, -1$$

$$\frac{2 \pm 1}{2} = 1 \pm \frac{1}{2} \quad R = \left\{ 1 \pm \frac{1}{2} \right\}$$

$$|2x+1| \geq |x+2|$$

$$2x^2 + 2x + 1 \geq x^2 + 4x + 4$$

$$x^2 - 2x - 3 \geq 0$$

$$x = 3 \pm \frac{1}{2}$$

$$\frac{2}{+0} - \frac{1}{+0}$$

$$R = \left[\frac{1}{2}, 3 \right]$$

$$1 > \log_{\frac{1}{2}} x$$

$$x < 2$$

$$R = (-\infty, 2)$$

$$1 - \log_{\frac{1}{2}} x > 0$$

$$1 > \log_{\frac{1}{2}} x$$

$$x > \frac{1}{2}$$

$$R = \left(\frac{1}{2}, +\infty \right)$$

$$\log_{10} (x-1) > 0$$

$$x-1 > 1$$

$$x > 2$$

$$R = (1, \infty)$$

6

$$\frac{x-1}{x+1} > 0 \quad \text{أو} \quad \frac{-1}{x+1} > 0$$

$$R = (-1, 1)$$

$$r(\cos \theta + 1) > 0$$

$$\cos \theta > -1$$

$$R = \left(\frac{r}{2} \cos \theta, \frac{r}{2} \cos \theta + \frac{r}{2} \right)$$



7

$$z(x-1)^5$$

$$z(x^5 - 4x + 9) = ax^5 + bx + c$$

$$z = a + b$$

$$(a+b)(x^5 - 4x + 9)$$

$$b = 9a + 11$$

$$a = -9a - 11 \quad \text{و} \quad a = -11$$

8

$$x^5 + 17x + 19 - m^5 \geq 0$$

$$f = f(1)(1-m^5) \leq 0$$

$$f = 1 + 17m^5 \leq 0$$

$$m^5 \leq -1$$

$$-1 \leq m \leq 1$$

(5)

9

$$\sqrt{f-x^2} \sim (f-x)(f+x)^2 \geq x \geq -f$$

$$[x] + [-x] = 1$$

$$\hookrightarrow x \in \mathbb{Z}$$

$$R = \{-1, 0, 1\}$$

(6)

10